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Purpose is to “consider to what extent this prescription

resembles the sort of policy that economic theory
would recommend”

Woodford, AER (2001) overview paper

But first, let’s review how this “sort of policy” was originally 
derived from what “economic theory would recommend.”

Dynamic 
Stochastic 
Forward-looking                              RULE
Lucas critique
Time inconsistency
Sticky prices



November 1992



So where did it come from?
• Searching for optimal rules

– By simulating alternative rules in dynamic stochastic 
monetary models with rational expectations & sticky prices

– Finding rules which performed well: small Var(y) & Var(p)
– Example: Model comparison at Brookings

• 9 multi-country models (7 with RE) including Taylor multi-country 
model

• Finding that good policy rules had certain properties
r rather than M, no forex, react to y and p, (coef on p) >1

-- Zero bound on interest rate: switch to M-growth
Then rounded off the coefficients for practical work

• Then showing policy was close in 1987-92
– but it was not an estimated rule 
– it was meant to be normative, not positive



Interest rate r

y
p

rOutput y Inflation p

From Taylor (1992) 
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Woodford (2001): What can we learn about the rule from this model?
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Solving the Model:  Making sure there is a unique solution
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Each element is an equation: 
4 equations in 8 unknowns

Each of these brings 4 more equations,
but with 4 more unknowns

However, if the roots of A are unstable 
then there is only one value for 
Γ that will not explode: H-1 Γ1 =0



Lesson 1: An implication for the coefficients of optimal policy rule

The condition for a unique stationary solution is:



Lesson 2: There may be inertia in the optimal rule
Observe that there is no lagged dependent variable in the Taylor rule
- The interest rate adjusts immediately, rather than gradually.
-Empirically, a lagged dependent variable (interest rate) appears in 
estimated policy rules
-- may be due to serial correlation of “errors” or to 
partial adjustment.
Such a partial adjustment might be optimal if  policy makers 
could commit to it. Why?
- A rule which increases the interest rate later would increase
expectations of such an interest rate increase in the future 
and begin to lower expected inflation and thus actual inflation 
without any adverse effects on output today. 
-- This result can be illustrated in a very simple model…



Illustration of Gains From Inertia
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By moving rt in response to et-1, 
the policy signals that rt+1 it will 
react to et. Thus Etrt+1 moves with et.
This means that Ert+1 shares
the work with rt

But you have to keep with it.



Lesson 3: Rationale for the Loss function

Can this loss function be viewed as an approximation to  
maximizing the welfare of the representative individual in the economy? 

- Woodford’s answer is yes: 
--- Target inflation rate is 0 because with staggered pricing, 0 minimizes 
price dispersion which reduces efficiency
--- The quadratic is an approximate cost of the dispersion.

- Similarly, the utility loss of movements of y away from the flexible 
price level yn can be approximated by a quadratic.
--- But target is greater then yn  due to monopolistic competition assumption
--- And yn is clearly not a linear trend, or any simple trend
--- It depends on technology changes, preference changes, etc.
--- Should not respond to all deviations


